
 
Practice Problems Solutions 
 

1.  Ho = 0 
 2.  H1 ≠ 0 
 3. 
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5.  df = n – 1 = 9 

 6.  Critical value = .602 
 7.  r2 = .769 

8.  Reject the null hypothesis.  The data reveals a strong positive relationship between 



    the IQ scores of mothers and their daughters.   The coefficient of determination 
    indicates that .769 of the variability in daughters’ IQ score can be explained by 
    the variability in mothers’ IQ score. 
 

             9.  Ho = 0 
10.  H1 ≠ 0 
11. 
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13.  df = n – 1 = 9 
 14.  Critical value = .602 
 15.  r 2 = .621 
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16.  Reject the null hypothesis.  The data reveals a strong positive relationship between 
      the IQ scores of fathers and their sons.   The coefficient of determination 
      indicates that .621 of the variability in sons’ IQ score can be explained by 
      the variability in fathers’ IQ score. 
 

 
 
 


